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A cyclist goes for a ride along a straight road.  The graph below shows his distance from his starting point, over a period of 100 seconds.


Which of these can you say from the graph?

Tick ONE box ()


He went uphill for the first 50s, then downhill after that.


He cycled at a steady speed for 50s, and then continued at a slower steady speed in the same direction.


He cycled at a steady speed for 50s, and then turned round and came back, at a slower steady speed.


He cycled at a steady speed for 50s, and then turned round and came back, at a faster steady speed.


His speed increased for the first 50s, then it began to decrease steadily again.
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